0731-113: Principles of Urban Planning
Semester: Spring 2024
Quiz 4 (makeup)
Marks: 5+ 10=15								Time: 30 minutes 
1. Please determine whether the following statements are true or false. Write only “True” or “False” in the answer script (no need to copy the question):			      Marks: 5×1=5
a) Tenement housing can be found in the Zone of Transition  
b) The commuter zone represents the residential area for industrial workers. 
c) The middle-class residential zone in Hoyt’s Model is connected to both CBD and Industry. 
d) The heavy manufacturing zone is located outside the city boundary in Multiple Nuclei Model 
e) In the Multiple Nuclei Model, the low-class residential area is surrounded by both the light and heavy manufacturing zones. 
[bookmark: _GoBack]2. Please the following questions:						    Marks: 5+5=10
A. Identify the five zones of the Concentric Zone Model and briefly describe their activities.
Or, 
Identify the five zones of the Sector Model and briefly describe their activities. [5]

B. The following model shows the “Multiple Nuclei Model”.  Identify the zones (as shown in numbers) and write down at least two principles the model follows.  [3+2]
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/7 Multiple Nuclei Theory

e Certain activities are limited to particular sites
because of their highly specialized needs. E.g. CBD
requires central location, while manufacturing needs
transport facilities.

e Certain activities repel each other. E.g. high class =
residential area is usually located far from e
manufacturing district and CBD i

5 High-class residential

e Certain groups are unable to pay high rent of certain
sites, thus move to a more inaccessible/ less desired
location

9 Industral suburb





